Atomic Energy Central School No.4, Rawatbhata
Periodic Test-1 (2018-19)

Time — 1 & Half Hrs Class-VI (English) M.M.-40

READING

1. Read the following passage carefully and answer the questions that follow- (5)

Handsome is that handsome does
| would like to pose a question, Is Mother Teresa a beauty? Was Mahatma
Gandhi handsome? Was Lincoln a good looking man? The answer is no-not
at all, not by yards, not by meters- yet they are loved, cherished and held in
great esteem all over the world for their deeds of nobility towards mankind.
As such, | think, beautiful faces are those that wear. It matters little- dark or
fair so long as handsome deeds are printed there.
Thus ‘Handsome is that handsome does’. Some men are proud and insolent
because they ride a fine horse, wear a feather in their hat or are dressed in a
fine suit of clothes. Who does not see folly of this? For if there be glory in
such things, the glory belongs to the horse, the tailor or the bird. The surest
way to live in this world is to be in reality rather than what we appear to be.
We are our own fates. You may judge a flower or a butterfly by its
appearance but not a human being. A human being is recognized by his
deeds and has to work hard for it so it is well said,
“Heights attained by great men, reached and kept
Were not attained by a sudden flight,
They while their companions slept
Were toiling upwards in the night.”

a) Mother Teresa, Mahatma Gandhi and Abraham Lincoln are held in great

esteem all over the world because------=============mmmmmmmmmm oo :

b) ‘Handsome is that handsome does’ means---------=--===-====-=mmmemmmmommomeo- :
c) The only way to live in this world iS t0------==--=====mmm e :
d) All great men attained heights because---------------=-------m oo - :

e) Find words from the passage that means the same as:

I. Remembered with affection
II. Rude




WRITING
2. You are Amit/Amita, a student of AECS-2, Mumbai. Write an application/ a
formal letter to your school Principal asking 3 days leave to attend a family

function. 10M
GRAMMAR
3. Match the following words with their meaning- 2M
1. Very tired A. Breeches
2. Short trousers B. Hamper
3. A basket with a lid C. Weary
4. Had an angry look on the face D. Scolded
4. Complete each of the following phrases with a suitable word- 2M
AA. ...l of flowers
B.A.....ooo of fishes
C. A . of sheep
D.A................ of sticks
5. Make the Noun from the words given below- 2M
A. Honest B.Cruel C.Cheerful D.Sensitive
6. Write the Opposite of the following words- 2M
A.Wild B.Ancient C.Near D.Ugly
7. Make meaningful sentences using these words- 2M
A. Discipline
B. Homework
LITERATURE
8. In what subjects did the little man need help to do Patrick’s homework? 2M
9. Why did Patrick’s parents wonder? 2M
10. Define “a House” and “a Home” in your own words. 2M

11. When does the kite take rest and when does the kite lose its beauty?2M

12. How did Rishi explain the different ways in which the birds behaved? 2M

13. Why didn’t the farmer’s wife want to leave the baby alone with the
mongoose? 2M

14. Who did the dog finally choose as his master and why? 3M
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Atomic Energy Central School No.4, Rawatbhata
Periodic Test-1 (2018-19)
Time — 1 & Half Hrs Class-VI (MATHEMATICYS) M.M.-40

| FILL IN THE BLANKS 3X1=3M

1. CXXXI is written in Hindu-Arabic numeral as

2. There is no predecessor of in whole numbers.

3. HCF of two co-prime numbers is

I ANSWER THE FOLLOWING QUESTIONS 3X2=6M

1. Insert commas suitably and write the name according to international system of
numeration for the following number * 99985102’

2. Using distributive property find the product of 258 X 1008 .

3. Find HCF of 24 and 36 .

11 ANSWER THE FOLLOWING QUESTIONS 5X3=15M

1. Find the difference between the greatest and the least number that can be written

using the digits 7,3,8,5,4 each only once.

2. Find the product of successor and predecessor of 999.

3. write the greatest 4 digit number and express it in terms of its prime factors.

4. determine the smallest 3-digit number which is exactly divisible by 6,8 and 12.

5. If the sum of two numbers is 52432192,if one number is 2836542,find the other number.
IV ANSWER THE FOLLOWING QUESTIONS 4X4=16M

1. A box of medicine contains 2,00,000 tablets each weighing 20mg , what is the

total weight of all the tablets in the box in grams and kilograms.

2. A loading tempo can carry 482 boxes of biscuits weighing 15kg each,whereas a van

can carry 518 boxes each of the same weight, find the total weight that can be carried

by both the vehicles.

3. Renu purchases two bags of fertilisers of weight 75kg and 69kg,find the maximum value
of weight which can measure the weight of the fertiliser exact no of times.

4.Determine the greatest 3-digit number exactly divisible by 8,10 and 12.




Atomic Energy Central School NO.4, Rawatbhata

Periodic Test-1 (2018-19)

MM: 40 Class-VI, Science Time- 1%hrs
1.Which of the following is a root? (1)

(a) Cucumber (b)Carrot (c)Spinach (d)Onion

2.The food component needed by our body are called- (1)
(a)Ingredient (b) Nutrients (c) fragments  (d) Ornaments
3.Weaving of fabric is done in- (1)
(a) Powerloom (b) Handloom (c)both(a) &(b) (d)Takli
4.Which is a set of transparent materials? (1)
(a)Glass & Air (b)Water& Glass (c)Water & Air (d)AIl of these
5.Threshing is done by- (1)
(a) Beating (b) Bullocks (c) Machines  (d) All of these
6.Namea non-green plant that we eat. (1)
7.Name the following (1)

(i)A vitamin which is called a group of vitamins-

(i)A vitamin that gets easily destroyed by cooking-

8.Define “solution” (1)
9.Why some articles become dull after continuous use? (1)
10.From which parts of the plant cotton and jute obtained? (1)

11.Describe different kind of fibres. (2)




12.Mention any two uses of sieving. (2)

13.How grouping of objects is useful? (2)
14.complete the following table (2)
Minerals/Vitamins Deficiency Disease

(i) Iron

(i___ Goitre

(iif) Vitamin C

(iv) Loss of vision
15. How will you separate the mixture of sand and water? (3)
16.Write the importance of water in our body. (3)
17.Give any two exampleof each - (3)

(i) Transparent(ii) Translucent(iii) Opaque

18.Explain how jute fibres are obtained from jute plant. (3)
19. Explain how you will make sprouted seeds. (5)
20.Write a short note on the following

(A) (i)Test for fats (ii)Winnowing (1+1=2)
(B)What climatic conditions are required for the growth of cotton plants? (1)

(C) Describe one activity to show that human skin is translucent. (2)
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Time — 1 & Half Hrs Class-VI (Social Science) M.M.- 40
QUES 1- Choose the correct answer. 1x5=5
a. How did merchants travel? (with carvans, with ships, None of these,
both a & b)

b. Where were the manuscripts written? (on palm leaf, peepal leaf, tulsi
leaf)

C. What are celestial bodies?(The sun, Moon, star, all of these)

d.  Who Composed our National Anthem?(Pt. Jawaharlal Nehru,
Rabindranath Tagore, Lal Bahadur Shastri)

e. What is dzos?(Yak - Cow, Dog, Goat)

QUES 2- Answer the following question 10X3=30

a. List one major difference between manuscripts and inscriptions.
b. How does a planet differ from a star?

C. What is meant by the Solar System ?

d.  What does diversity add to our lives?

e. How do we explain diversity?

f. Make a diagram of solar System.

g.  What are the three heat zones of the earth?

h. Define North Poles and Axis.

I. What is the use of Globes?

J. Why do we always only one side of the moon?

QUES 3 - Match the following 5
a.Narmada Valley----------- The first big kingdom
b.Magadha------------------ Hunting and Gathering
c.Garo hills ------------- Cites about 2500years
d.Indus and its tributaries---------- Early agriculture

e.Ganga ----------- The first Cites
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